101 & 54 3% ¢ B & iz 0 (% I8 S0 pF LT R4

HAK -4 A 0 £ 104
ljiﬁTﬂﬁﬁﬁ)Hmb—%) (ii) lim £

X —00 x—0 Sil’l2x

2.f272 3% log,(x’—5x+12)>1

V (2 1 S 4 :
3R 3 X —4+—1=4 > =B £ A+B
3. K& & ik Z,) ARy ]; k(k+2) *

4. EM y=x+k 2R 9x’+)°=18 3 4pE A B K bk SR

3

5
100

3
5. f s fifr 1? [y % +o+ 2o [] 3 3ot

23
== +
3

100° |
101

6. k€zZ - 53X flx)=(x—1)(x=2)(x—k)+124  EFthl- ZF; > K &

-3

CHAR R 20 %F o3k 0 20 25k 0 20%F 0 TR 0 A p A 2 B0 Rk A2 TN

8.4 1% - BELLA4H ehr v 5 A ABCD - BCD 5 #5/ £ & ch= BEEL > £ 2 BCARE L dhie-D B
Fodrd o 2H o PABS LG appag s M H =

9. % &ﬁﬁ&&mjm]%WSﬂW{FﬁZﬁ%ﬁ%i%i@U’ﬁ%”{?ﬁ3§%ﬁ&3%i
GIPRESERE Sk SbP 2 al = SECI DI U EE T NN S R S S

EAL TG \/E E R F LT R

10 o den? wghh gk B BEBT A x bt o0 -
PO=4 - Fgd ;> 250

WA P,Q a8 i OP £33 00 * PO



FEA - ALI0A - He AL

8 1 -2 312
L3k 4=|1 2 1| » B=4 7 1| » O s=F®EL LFHaetF>d X,V @1
-11 1 210

AX=0,BY=0 > 4% & i # ol 7 5 biEmP 2

—+2—=2(y4—x4)

2. x.y tEgEowmL ] 7 > (x,p)
———=(x"+3y")(3x’+)?)
x 2y

3.48F ¢ F SR A w5 1,2,8,4,5,6,7 F K mB— $f5k 0 Befiew ok S, LBdinSaf
Ssenif e £ P, L S,=4k+1l 5 kEZ g F o Rk
(i) PPy & 5w
(ii) fi* P, #dy P+l chifie B 430
(iii) P, &

4383 5B P EN f(x)=x"+ax +a, X +ax +a, X +as X’ +agx +a;

& & (1) a,,a,,ay,a,,a5,a4,0,€(1,2,3,45,6,7,89,10] 2 ¢ e BFia B I Fik
(2 fx) &at F+x+x+1 Ff



